| Efficiency vs Dxy |

.02
<
o
®»018
>

@016

Q) -
@014

eff

0.012

0.01
0.008
0.006

0.004F

.......................................................................

........................................................................

0.002f =+ hereesierseedenneedonnboc oo
.QJ-.l.Q:IIII:IIII:IIII:IIII:IIII;IIII:IIII:IIII:IIII:IIII
T é
o L ;
1__ ................................... " ....................................
- ;

0.95

)

0-15-10 =505 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_baseline

| Efficiency vs Dz |

—e— DQM_mkFit_baseline6iter

—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

N 0.1
o

Y1l SRR R ) A
> F i :
EJ).O8:— --------------------------------- ----------- ----------------------
Q r : .
FD.07 froneeee RS I S
® F 5 5
0.06;— --------------------------------- ----------- ----------------------
Y| S S — A B N -
0,04 vt N
OISR SN S e S e
002 +-+++}+M--’?- e
001;—"*“ S Rl R S
OJ--LAO:I 1 1 1 + 1 1 1 1 + 1 1 1 1 i 1 1 1 1 ! 1 1 1 1 1 1 1 1
S LTI
x K : : : 1
1_— ---------- — ----------- ;-ﬁ--mm 1» YRR R TP PR
=20 <10 0

10

2030
TP dz (cm)



	Contents
	Page 1


